Math 104 - Section 103
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1. Estimate %5 by using the linear approximation to the function fz) = at a=0.

o 4\(0) =[.

| &) =¢e
tloy=¢"=I .
@05: J}(O.S‘) A J?(o) 1 n%) (@fﬁ“—@} ,_,
= | < (‘(O{S') ‘ |i Z,‘S

.
2. How does the approximation found in Question 1 relate to the exact value of €®5?
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(b) It is an underestimate.
(c) It is not possible to answer this question without more information.

Explain why.
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. The diagram below shows the graph of the function f(z) = e® near the origin. Illustrate the lincar

approximation you did in Question 1 by drawing a clear sketch on the diagram below. A clear sketch
includes:

i) the graph of the linear approximation function used in Question 1;
i) the point you used to construct such linear approximation function, label this point as P;

i) the point you used to estimate %, label this point as T if you think it is distinct from point P.




4. Consider the approximatio Q stio l Ho wbg uld the e n that approximation be?
In other words, find a bou df tl equivalently, determine a worst-case error estimate.
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